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RealO0l Answers for No.9589
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Ansl =[a=-2,b=0,c=-4]

d=[p(x)+q(x) =4x2—x—4] 2=[p(x)—q(x) =—2x2+x]
Ans2 = 3=[q(x)-p(x)=2x"—x] 4=[mp(x)-nq(x)=-5x"+3x-2]
S=[p(x)qx)=3x"—x -8x*+2x+4] G6=[[p(x)=x"-4x"+4]

Ans3=[p(x)q(x)=x’+2xX +4x* +6xX +7x* + 14 x-20]
Ansd=[a+b=1,ab=-30], , AnsS=[a=5,b=2,ab=10]
Ans6:[P(x):x4+x3+7x2+ 12x—-1]

_]_[Q(x)=5x4—4x3—3x2+3x—1} 2_[ Q(x)=5x—4 }

o R(x)=3 o R(x):—3x3+3x2—x+3

_ | Q)=x } _[Q(x):x3—x2+2x—8}
A= '3_[R(x)=—5x—2 4= R(x)=23
5_[Q(X)=2x3—4x} 6_[Q(x)=x3+3}

i L R(x)=8x-3 L R(x)=0 ]
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RealO0l Answers for No.9707

Ansl =[a=0,b=-1,c=-3]

.1=[p(x)+q(x)=5x2—3x+8] .2=[p(x)—q(x)=—3x2+3x]
Ans2 = 3=[q(x)—p(x)=3x"-3x] 4=[mp(x)—nq(x)=-5x"+6x+4]
S=[p(x)qx)=4x" =32 +20x" — 12x +16] 6=[[p(x)=x"+8x+16]
Ans3 =[p(x) q(x)=x+3x =23x" =30 +4x* - 12x-20]
Ansd=[a+b=-4,ab=-12], , AnsS=[a=6,b=2,ab=12]

Ans6=[P(x)=x4+x3—2x2+3x—4]

_1:[Q<x>=4x3—4x2—1} QZ[Q(x)=4x2-4x} |
' R(x)=2x T R(x) =+ 2x
_ - Q(x)zx} _{Q(x)=x3+x2—6x+ll}
a7 '3_[R(x)=—x+6 4= R(x)=-19
5_[Q(x)=2x3+2)1 6_[Q(X)=x3}
. 7 L R(x)=2x+3 7T R(x) =-3 |
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RealO0l Answers for No.9821

X
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Ansl =[a=2,b=-3,c=3]

.]=[p(x)+q(x)=3x2+3x+ 1] .2=[p(x)—q(x)=—x2—3x—7]
Ans2 = ,3:[q(x)—p(x):x2+3x+7] .4:[mp(x)—nq(x)=—x2—6x— 17]
S=[p(x)qx)=2x"+3x-2x"-9x-12] 6=[[p(x)P=x"-6x"+9]

Ans3=[p(x)q(x)=x"—10x" +28x" =24 X =3 X + 12x— 12]
Ans4d =[a+b=6,ab=-27], , AnsS=[a=-2,b=5,ab=-10]
Ans6=[P(x)=x"+6x —x*—4x+3]

_1_[Q(x)=3x3—x2—3x—4} 2_{ Qx)=3x-1 }

T R(x)=-4x+4 o R(x):—3x3—4x2—4x+4

_ | Q)=x } _[Q(x):x3+8x2+22x+66}
Ans7 = '3_[R(x)=—5x—2 4= R(x) =201
5_[Q(x)=3x3—6x} 6_{Q(x)=x3+3}

i LR(x)=12x-4 7L R(x)=-10 ]

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XKL XXX KKK XKLL XKL XKL LKL KKK KKK KKK KKK KKK X KKKKKKKKKMEL /2-6500103-00004XX

X

RealOl Answers for No.10352

.1=[p(x)+q(x)=4x2+3x—7]
3=[q(x)-p(x)=2x"+3x-3]
S=[px)q(x)=3x"+3x-11x*—6x+10]

Ans2 =

Ansl =[a=1,b=3,c=3]
.2=[p(x)—q(x)=—2x2—3x+3]
4=[mp(x)-nq(x)=-Tx = 12x+10]
G6=[[p(x)=x"—4x"+4]

Ans3=[p(x)q(x)=x*—4xX +6x" =5 +17x" = 18 x — 18]

Ans4d=[a+b=-6,ab=28],

N

Ans7 =

[Page 0004]

, AnsS=[a=-1,b=5,ab="-5]
Ans6=[P(x)=x"+4x -3x" = 7x+3]
Q(x)=4x3—4x2—4x—3} [Q(x):4x2—4x—4}
R(x)=3x-2 R(x)=-3x"+3x-2

3:[ Q(x)=x 4:{Q(x):x3+2x2—5x+8}
- R(x)=2x+1 ’ R(x)=-15
Q(x)=3x3+9x} 6_[
R(x)=27x+5 B

2

5_[ Q(x)=x3+4}
- R(x)=-7
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RealOl Answers for No.10380

Ansl =[a=0,b=-1,c=-4]

.1=[p(X)+q(x)=4x2+4x—5] .2=[p(x)—q(x)=—2x2—4x+3]
Ans2 = 3=[q(x)-p(x)=2x"+4x-3] 4=[mp(x)-ng(x)=—x"—8x+3]
S=[p(x)qx)=3x"+4x —=T7xX'—4x+4] G6=[[p(x)P=x"-2x"+1]
Ans3:[p(x)q(x):xs+2x4—6x3+4x2+8x—8]
Ansd=[a+b=13,ab=40], , AnsS5=[a=-5,b=4,ab=-20]

Ans6=[P(x)=x"—4x-3x*+15x-5]

]:[Q(x):x4+3x3—3x2—2x—1} 2:{Q(x)=x2+3x—3}
' R(x) = -4 T R(x)=—2x"-x-4
AnsT = _3:[ Q(x)=x } .4:[Q(x):x3+4x2+l2x+23}
R(x)=3x-7 R(x)=49
5:[Q(x)=2x3+6x} 6:[Q(X)=x3+1}
L R(x)=18x-3 ' R(x)=0 i
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RealOl Answers for No.10412

Ansl =[a=4,b=-4,c=4]

.1=[p(x)+q(x)=5x2—3x+5] .2=[p(x)—q(x)=—3x2+3x+ 1]
Ans2 = 3=[q(x)-p(x)=3x"-3x—-1] 4=[mp(x)—nq(x)=—5x"+6x+5]
S=[p(x)q(x)=4x"-3x+14x> -9 x+6] 6=[[p(x)P=x"+6x"+9]

Ans3=[p(x)q(x)=x"+2x"=9x =16 x" + 10 x + 12]
Ansd=[a+b=6,ab=5], , AnsS=[a=7,b=6,ab=42]
Ans6=[P(x)=x'+xX +4x" +6x—3]

_1_[Q(x):4x3+3x2—4x} _[Q(x)=4x+3}
o R(x)=-4 TIR(x)=—-4x"-4
_ | Qx)=x } _[Q(x)=x3+4x2+11x+34}
Ans7 = ’3_[R(x)=7x—4 = R(x) =105
5_[Q(X)=4x3—8x} 6_[Q(x):x3+l}
L 7 LR(x)=16x-3 77 R(x)=-6 |
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RealOl Answers for No.10487
Ansl =[a=2,b=-1,c=-2]
2

=[p(x)—q(x)=—2x2—5x+ 1]
4=[mp(x)-nq(x)=-T7x"—15x+6]
6=[[p(x)P=x"-6x"+9]

.1=[p(x)+q(x)=4x2+5x—7]

Ans2 = 3=[q(x)-p(x)=2x"+5x—1]
S=[p(x)q(x)=3x"+5x-13x* = 15x+12]
Ans3=[p(x)q(x)=x"—12x*+32x° +28x* - 24 x - 16]

Ansd=[a+b=-2,ab=-24], , AnsS5=[a=-3,b=5,ab=-15]

Ans6=[P(x)=x"-2x"+4x> -3 x+3]

I [Q(x):5x3+4x2} 2_[Q(x):5x2+4x} |

' R(x)=4x-1 T L R(x)=4x-1
L[ Qe=x _Q(x):x3+8x2+28x+85}

Ans7 = '3_[R(x)=—7x—5} .4—{

R(x) =254
5_[Q(x):4x3+8x} 6_[Q(x):x3+4}
.7 LR(x)=16x-3 7L R(x)=0 ]
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RealOl Answers for No.10644

AI’lS]:[a:-4,b:3’c:-4]

A= [p(X)+q(x)=4x2+5x] .2=[p(x)—q(x)=—2x2—5x+ 10]
Ans2 = 3=[q(x)-p(x)=2x"+5x-10] 4=[mp(x)—nq(x)=—-7x"—20 x +45]
S=[p(x)qx)=3x"+5x+10x*+25x - 25] 6=[[p(x)] =x"+10x"+25]

Ans3=[p(x)q(x)=x"+6x"+3x = 17x" —40x - 25]
Ansd=[a+b=-4,ab=-45], , AnsS=[a=6,b=5,ab=30]
Ans6=[P(x)=x"=3x +2x* =3 x+5]

_]_[Q(x)=x3—4x2—3x} 2_[Q(x)=x2—4x—3} |
o R(x)=x+1 o R(x)=x+1
_ | Q) =x _Q(x):x3+4x2+9x+16}
Ans7= '3_[R(x)=—3x+2} '4_{ R(x) =30
5_[Q(X)=2x3+6x} 6_[Q(X)=x3+1}
L 7 LR(x)=18x+3 L R(x)=2 ]
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RealOl Answers for No.11101

X
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Ansl =[a=-4,b=0,c=-1]

.1=[p(x)+q(X)=3x2—3x—5] .2=[p(x)—q(x)=—x2+3x+3]
Ans2 = 3=[q(x) - p(x)=x"—3x-3] 4 =[mp(x) - nq(x)=-2x"+9x+8]
S=[p(x)qx)=2x"-3x—6x"+3x+4] G6=[[p(x)P=x"-2x"+1]

Ans3 =[p(x) q(x)=x"—8x" +20x*— 16X’ +4x* — 16 x + 16]
Ansd=[a+b=5ab=-36], , AnsS=[a=-7,b=6,ab=-42]
Ans6=[P(x)=x"=5x=3x"+20x—7]

_]_[Q(x):4x3—2x—3} 2_[ Q(x)=4x }
T R(x)=4x+3 o R(x):—2x3—3x2+4x+3
_ | Qx)=x } _[Q(x)=x3+8x2+24x+72}
Ans7 = '3_[R(x)=6x—5 7= R(x)=211
5_[Q(x)=3x3—9x} 6_[Q(X)=x3+6}
L7 LR(x)=27x+2 7L R(x)=13
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RealOl Answers for No.11613

Ansl =[a=0,b=-4,c=
.1=[p(x)+q(x)=5x2—3x—3]

_]]
2=[p(x)-q(x)=-3x"+3x-7]
3=[q(x)—-p(x)=3x"=3x+7] 4=[mp(x)—nq(x)=-7x"+9x—31]
S=[p(x)qx)=4x"-3x - 18"+ 15x - 10] 6=[[p(x)P=x" 102" +25]
Ans3=[p(x)q(x)=x’+2x —6x'=8x +3x* = 10x+10]

Ans2 =

Ansd=[a+b=1,ab=-30], , AnsS=[a=-5.b=2,ab=-10]
R(x)=-2
Ans7 = }
o

Ans6=[P(x)=x"+3x -6x—12x+7]
Q(x)=x
Q(x)=3x3+9x}

']:[Q(x):x4—3x2—x+1
:[R(x)=5x—5
R(x)=27x+2

X [Page = 0010]

Q(x)=x>-3

[
R(x)=—x"+x-2

4:[Q(x)=x3+3x—2}

R(x)=2
6:[Q(x)=x3+ 1}

R(x)=2

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0.:0.0:0:¢



D ERVERHNCIVISENED 0.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ W EX N T N O NN ICEX O N IO N R D70 ¢
RealOl Answers for No.11720

Ansl =[a=0,b=0,c=2]

.1=[p(x)+q(x)=5x2—5x+9] .2=[p(x)—q(x)=—3x2+5x—1]
Ans2 = 3=[q(x)-p(x)=3x"=5x+1] 4=[mp(x)-nq(x)=-7x"+15x+5]
S=[p(x)q(x)=4x"—5x +21x*=20x+20] G6=[[p(x)=x"+8x"+16]
Ans3:[p(x)q(x):x6+2x5—x4—8x3—9x2+6x+9]
Ansd=[a+b=13,ab=42], , AnsS=[a=-7,b=2,ab=-14]
Ans6=[P(x)=x4+5x3+2x2+14x—3]
_1_[Q(x)=x4—x2—4x—4} 2_[ Q(x)=x }—
. - . - 3 2
R(x)=-1 R(x)=—x"-4x"-4x-1
_ | Qx)=x } _[Q(x):x3+7x2+15x+30}
Ans7 = ’3_[R(x)=—7x—4 4= R(x) = 63
5_[Q(x):3x3+9x} 6_[Q(x):x3—l}
L 7 LR(x)=27x+5 7L R(x)=6 |
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RealOl Answers for No.12122

Ansl =[a=-2,b=-3,c=3]
J=[p(x)+q(x)=4x"—x—-2] 2=[p(x)—q(x)=—2x"+x—4]
3=[q(x)—p(x)=2x"—x+4] 4=[mp(x)-nq(x)=-3x"+2x—-11]

S=[p(x)qx)=3x"-x —=8x*+3x-3] G6=[[p(x)=x"-6x"+9]
Ans3=[p(x)q(x)=x=5x"+6x —9x* =21 x + 18]
Ansd=[a+b=4,ab=-21], , AnsS5=[a=2,b=1,ab=2]

Ans2 =

X

y :[Qm

Ans6=[P(x)=x4+2x3—5x2—7x+5]
:x3—3x2—3x—2} {Q(x)=x2—3x—3}

R(x)=4x R(x)=-2x"+4x
Ans7 = '3:[ Q(x)=x } '4:[Q(x)=x3+3x2—6x+10}
R(x)=-5x+4 R(x)=-16
5_[Q(x)=3x3+9x} 6_[Q(X)=x3+3}
L LR(x)=27x+4 L R(x)=-9 ]
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RealOl Answers for No.12133

AnS]I[a:4’b:-3’c:4]

.1=[p(x)+q(x)=5x2+3x+l] .2=[p(x)—q(x)=—3x2—3x+7]
Ans2 = 3=[q(x)-p(x)=3x"+3x-7] 4=[mp(x)-ng(x)=-5x"—6x+18]
S=[p(x)qx)=4x"+3x" + 1357+ 12x - 12] 6=[[p(x)=x"+8x+16]
Ans3=[p(x)q(x)=x*-3x+6x" +5x =11 x* + 18 x + 24]
Ansd=[a+b=5ab=-14], , AnsS=[a=T7,b=4,ab=28]

Ans6=[P(x)=x"+3x -5x" - 13x+7]

—]:[Q(x)=3x3+3x2+1} 2:[Q(x):3x2+3x} ]
' R(x)=—3x ) R(X)=X2—3x
| 32| Q)=x } _[Q(x)zx%zxuﬂ
Ans7 3 _[R(x) 7445 4= R(x)=-12
5_|:Q(X)=4x3+8x} 6_|:Q(x)=x3+4:|
L T R(x)=16x+3 T R(x)=0 |
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RealOl Answers for No.12317

Ansl =[a=4,b=3,c=5]
.]=[p(x)+q(x)=3x2—2x+2] .2=[p(x)—q(x)=—x2+2x+8]
Ans2 = 3=[q(x)-p(x)=x"-2x—8] 4=[mp(x)-nq(x)=—x"+4x+21]
S=[p(x)qx)=2x"-2x"+7x" - 10x-15] 6=[[p(x)=x"+10x>+25]
Ans3=[p(x)q(x)=x"+x - 12X =3 x* = 9x— 18]
Ansd=[a+b=-T,ab=12], , AnsS=[a=4,b=3,ab=12]
Ans6=[P(x)=x"=3x -2x"+ 11 x+2]

_1_[Q(X)=5x4—x3+3x2—3x+3} 2_[ Q(x)=5x-1 ]
T R(x)=3 o R(x):3x3—3x2+3x+3
_ _ Q(x)=x _ Q(x):x3+x2—x—l}
Ans7= '3_[R(x)=—3x—6} '4_[ R(x)=7
5_[Q(x)=3x3+9x} 6_[Q(x)=x3+6}
. LR(x)=27x+2 7L R(x)=15 ]
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RealOl Answers for No.12380

X
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Ansl =[a=-2,b=-4,c=-3]
.]=[p(x)+q(x)=5x2+x—5] .2=[p(x)—q(x)=—3x2—x—1]

Ans2 = 3=[q(x)-p(x)=3x"+x+1] 4=[mp(x)-nq(x)=-7x"=3x-9]
S=[px)qx)=4x"+x —14x* =3 x+6] 6=[[p(x)=x"-6x"+9]
Ans3:[p(x)q(x):x6—2x5—5x4+5x3—15x2—15x+25]
Ansd=[a+b=-3,ab=-4], , AnsS5=[a=-6,b=5,ab=-30]
Ans6=[P(x)=x"-2x —4x" +11x+7]
_]:[Q(x)=3x4+4x3—3x—4} :[ Q(x)=3x+4 }

) R(x)=0 R(x):—3x2—4x

X)=x X)=x +8x +23x+71
Ans7= 'SZ[R(S)(:S)C—J '4:[()() R(x) =218 }
5:[Q(x):3x3—9x} '6:[Q(x):x3+6}
L R(x)=27x-2 R(x)=3 |
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RealOl Answers for No.12498

Ansl =[a=3,b=-5,¢=0]

.1=[p(x)+q(x)=3x2—4x+2] .2=[p(x)—q(x)=—x2+4x]
Ans2 = 3=[q(x)-p(x)=x"—4x] 4=[mp(x)-nq(x)=—4x"+12x-1]
S=[p(x)qx)=2x"—-4x+3x"—4x+1] G6=[[p(x)P=x"+2x"+1]
Ans3=[p(x)q(x)=x*-2x"+6x —4x =10 x + 15]
Ansd=[a+b=13,ab=42], , AnsS=[a=-7,b=2,ab=-14]

Ans6=[P(x)=x"=3x +5x" - 10x—-2]

‘]__[Q(X)::4x4-'3x3—4¢f_k4x} 2__[ Q(x)=4x-3 } _
o R(x)=0 o R(x)=—4x3+4x2
_ | Q) =x _Q(x):x3+3x2+2x}
Ans7 = '3_[R(x)=6x—5} '4_[ R(x)=1
5_[Q(x):3x3+6x} 6_[Q(x):x3+8}
i LR(x)=12x+5 7L R(x)=11 ]
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RealOl Answers for No.12554

X
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Ansl =[a=4,b=-4,c=5]
.1=[p(x)+q(x)=4x2—5x—7] .2=[p(x)—q(x)=—2x2+5x—3]
3=[q(x)-p(x)=2x"=5x+3] 4=[mp(x)-nq(x)=-Tx"+20x—17]
S=[p(x)q(x)=3x"=5x-17x*+25x+10] 6=[[p(x)P=x"-10x>+25]
Ans3 =[p(x) q(x):x6—9x5+ 15x4+25x3+5x2—20x—25]
Ansd=[a+b=-5,ab=-36], , AnsS=[a=-5,b=4,ab=-20]
Ans6=[P(x)=x"—7x +4x*-23x-2]

Ans2 =

_1_{Q(x):4x3+4x2+1} 2_[Q(x)=4x+4}
T R(x)=—4x o R(x):x2—4x
_ | Qx)=x - Q(x):x3+2x2—8x+26}
a7 '3‘[R(x>=—4x—6} ""[ R(x) =75
5_[Q(X)=3x3—3)1 6_[Q(x)=x3+5}
L 7 L R(x)=3x-4 7L R(x)=8 |

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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RealOl Answers for No.12836

AnS]:[a:-S,b:-3,c:4]

d=[p(x)+qx)=4x"-4x-5] 2=[p(x)—q(x)=—2x"+4x+1]
Ans2 = 3=[q(x)—-p(x)=2x"—4x—1] 4=[mp(x)-nq(x)=-5x"+12x+1]
S=[p(x)qx)=3x" -4 -9x" +8x+6] 6=[[p(x)=x"—4x"+4]
Ans3=[p(x) q(x)=x+10x" + 18 x* =36 x’ + 4 x* + 16 x — 24]
Ansd=[a+b=-5,ab=-24], , AnsS=[a=7,b=4,ab=28]
Ans6=[P(x)=x"+3x +4x*+18x—5]
1{Q(X)=3x3+2} 2:[ Qx) =3 }
’ R(x)=x TR =27 +x
Ans7 = _3:[ Q(x) =x } .4:[Q(x)=x3+5x2+13x+37}
R(x)=6x-2 R(x)=113
5_[Q(X)=4x3—12x} 6_[Q(x)=x3+3}
|7 L R(x)=36x-3 L R(x)=-9 |
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RealOl Answers for No.12959

Ansl =[a=1,b=1,c=1]

d=[p(x)+q(x)=4x"—x+4] 2=[p(x)—q(x)=-2x"+x]
Ans2 = 3=[q(x)-p(x)=2x"—x] 4=[mp(x)-nq(x)=-7x"+3x-2]
S=[p(x)qx)=3x"-x +8x*—=2x+4] 6=[[p(x)=x'+4x"+4]
Ans3 =[p(x) q(x):x5—9x4+25x3— 17x* - 15x+ 15]
Ansd=[a+b=5,ab=-24], , AnsS=[a=1,b=T,ab=7T]

Ans6=[P(x)=x4+x3+2x2+7x—7]

_]_[Q(x)=5x4+2x3—3x2+2x—3} 2_[ Q(x)=5x+2 I

o R(x)=0 o R(x):—3x3+2x2—3x

_ | Q)=x } _[Q(x):x3+2x2—x+3}
Ans7 = '3_[R(x)=—2x—4 4= R(x) = -10
5_[Q(x)=3x3—9x} 6_[Q(x)=x3+4}

L LR(x)=27x-2 L R(x)=-13 i
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RealOl Answers for No.12967

Ansl =[a=-2,b=0,c=2]

.1=[p(x)+q(x)=5x2+5x—6] .2=[p(x)—q(x)=—3x2—5x+2]
Ans2 = 3=[q(x)-p(x)=3x"+5x—-2] 4=[mp(x)-nq(x)=-Tx" —15x+2]
S=[p(x)qx)=4x"+5x-12x* = 10x + 8] G6=[[p(x)=x"—4x"+4]
Ans3=[p(x)q(x)=x"-3x"—4x —28x* +4x+12]
Ansd=[a+b=-T,ab=12], , AnsS=[a=3,b=T,ab=21]

Ans6=[P(x)=x4—x3—5x2+8x+2]

_1_[Q(x):5x4—4x3+4x2+2x} 2_[ Q(x)=5x-4 }
T R(x)=-2 o R(x):4x3+2x2—2
_ _ Q(X)=x} _[Q(x):x3—2x2+5x—14}
Ans7= '3_[R(x)=—x—6 4= R(x) =43
5_[Q(X)=3x3—6x} 6_[Q(x)=x3}
L LR(x)=12x-2 [R(x)=-5 |
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RealOl Answers for No.12975

Ansl =[a=0,b=4,c=3]

d=[p(x)+q(x)=3x"-3x—-6] 2=[p(x)-q(x)=—x"+3x+4]
Ans2 = 3= [q(x)—p(x):x2—3x—4] 4= [mp(x)—nq(x):—8x2+ 15 x+23]
S=[p(x)qx)=2x"-3x-7x"+3x+5] G6=[[p(x)P=x"-2x"+1]

Ans3:[p(x)q(x):x5—4x4—6x3+ 14x2+x—6]
Ansd=[a+b=-2,ab=-35], , AnsS=[a=-3,b=1,ab=-3]
Ans6=[P(x)=x"+3x —4x*-9x+1]

_1_|:Q(x):2x4+x3+3x—4} 2_[ Qx)=2x+1 }
T R(x)=-1 o R(x):3x2—4x—1
_ | Q) =x } _[Q(x)=x3+2x2—10x+29}
Ans7 = '3_[R(x)=—4x—7 = R(x)=-83
5_[Q(x)=4x3+4x} 6_{Q(X)=x3+2}
L L R(x)=4x-3 7L R(x)=-4 |
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RealOl Answers for No.12979

Ansl =[a=0,b=-4,c=0]

A =[p(x)+q(x)=4x2+x+7] .2=[p(x)—q(x)=—2x2—x+ 1]
Ans2 = 3=[q(x)—p(x)=2x"+x—1] 4=[mp(x)—nq(x)=—x"—2x+ 14]
S=[p(x)qx)=3x"+x" + 155" +4x+12] 6=[[p(x)]=x"+8x+16]
Ans3=[p(x)q(x)=x"—6x"+3x =26 x" - 34x - 8]
Ansd=[a+b=4,ab=-5], , AnsS=[a=-2,b=T,ab=-14]

Ans6=[P(x)=x"+2x —x*+3x-3]
]:{Q(x):2x3+2} 2:[ Q(x)=2x }
T lR(x)=2x+1 TR =2 +2x+1
s .3:[ Q(x)=x } .4:[Q(x):x3+6x2+18x+51}

R(x)=7x-5 R(x) = 150
5_[Q(X)=4x3—12x} 6_[Q(X)=x3+1}
|7 L R(x)=36x+5 7L R(x)=4 |
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RealOl Answers for No.13010
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Ansl =[a=0,b=0,c=0]

.]=[p(x)+q(x)=4x2+x+4] .2=[p(x)—q(x)=—2x2—x—6]
Ans2 = 3=[q(x)-p(x)=2x"+x+6] 4=[mp(x)-ng(x)=-9x" —4x-23]
S=[px)qx)=3x"+x +2x"—x—5] H=[[p(x)P=x"-2x"+1]
Ans3=[p(x)q(x)=x"—6x"—x*—24x = 25x* +30x +25]
Ansd=[a+b=4,ab=-12], , AnsS=[a=4,b=3,ab=12]

Ans6=[P(x)=x"—6x +x*—x+6]

_]_[Q(x):x3—2x2—2x+2} 2_[ Q(x)=x-2 }
T R(x)=0 o R(x):—2x3+2x2
_ _ Q(x)=x _ Q(x)=x3+3x2+6x+12}
Ans7= '3_[R(x)=—7x+6} '4_[ R(x)=26
5_[Q(X)=4x3—8x} 6_{Q(x)=x3+2}
L LR(x)=16x-3 7L R(x)=-9 i
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RealOl Answers for No.13020

Ansl =[a=-2,b=3,c=-4]

.1:[p(x)+q(x)=4x2—4x+4] .2=[p(x)—q(x)=—2x2+4x—6]
Ans2 = 3=[q(x)-p(x)=2x"—4x+6] 4=[mp(x)-nq(x)=-13x>+20x - 27]
S=[p(x)qx)=3x"-4x’+2x"+4x-5] G6=[[p(x)P=x"-2x"+1]
Ans3=[p(x) q(x)=x"+5x" - 18x° + 4 x* + 8 x — 24]
Ansd=[a+b=-1,ab=-2], , AnsS5=[a=5,b=3,ab=15]

Ans6=[P(x)=x"—x —4x"+9x+6]

_]_[Q(x)=2x3+3x2+x} 2_[Q(x)=2x2+3x+1} |
"L R(x)=-4x+4 Tl R(x)=—4x+4

_ | Q)=x _Q(x):x3+2x2—7x+17}
A= '3‘[R(x>=—5x+4} ‘4‘[ R(x) = -47
5_[Q(X)=2x3+6x} 6_[Q(X)=x3+4}

L 7 LR(x)=18x+3 7L R(x)=-10 |
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RealOl Answers for No.13028

X

Ansl =[a=5,b=3,c=4]
.1=[p(x)+q(x)=5x2—4x+ 10]
3=[q(x)-p(x)=3x"—4x] 4=[mp(x)-nq(x)=-18x>+20x - 15]
S=[p(x)q(x)=4x"—4x+25x* =20 x +25] 6=[[p(x)=x"+10x>+25]
Ans3=[p(x) q(x)=x"=3x - 14x*+20x° —6x* — 12 x + 24]
Ansd=[a+b=6,ab=-27], , AnsS=[a=-1,b=2,ab=-2]
Ans6=[P(x)=x'—6x+4x*—22x-5]

_]:[Q(x)=2x4+x3+4x2—2x} [ Q(x)=2x+1 }
’ R(x)=0 R(x)=4x" -2

2=[p(x)—q(x)=-3 ¥+ 4 x]
Ans2 =

Ans7 =

'3:[R(x)=—3x—5

5_[Q(x)=2x3+2x
L R(x)=2x+3

[Page = 0025]

Q(x)=x }

|

'4:[Q(x):x3—2x2+3x—10}

R(x)=32

_ Q(x)zﬂ
6= [R(x) =3

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢



D ERVERHNCIVISENED $.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ W LI N T N O NN IS EX 0 0 10 )24 ) 0.4
RealOl Answers for No.13053

Ansl =[a=-3,b=3,c=0]
A= [p(x)+q(x)=3x2—x] 2= [p(x)—q(x)=—x2+x—8]

X

Ans2 = 3=[q(x)-p(x)=x>—x+38] 4=[mp(x)-nq(x)=—6x"+5x—36]
S=[p(x)q(x)=2x"-x"-4x*+4x-16] 6=[[p(x)F=x*-8x"+16]
Ans3=[p(x)q(x)=x"—6x"—4x +42x" — 48 x + 12]
Ansd=[a+b=-5,ab=4], , AnsS=[a=-7,b=1,ab=-7]
Ans6=[P(x)=x"+3x +6x"+22x—7]

]:[Q(x):5x4—4x3—3x2+4x+3} :[Q(x)=5x2—4x—3} |
. R(x)=1 R(x)=4x"+3x+1
Ans7 = .3:[ Q(x)=x } .4:[Q(x):x3+7x2+22x+65}
R(x)=-3x+6 R(x) =199
5_[Q(x)=4x3+8x} 6_[Q(x)=x3+6}
L " LR(x)=16x+5 | R(x)=4 |

[Page 0026]
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RealOl Answers for No.13068

Ansl =[a=0,b=-2,c=1]
.1=[p(x)+q(x)=5x2—3x—5] .2=[p(x)—q(x)=—3x2+3x—3]
Ans2 = 3=[q(x)-p(x)=3x"-3x+3] 4=[mp(x)-nq(x)=-18x>+15x 3]
S=[px)q(x)=4x"-3x-17x*+12x+4] G6=[[p(x)=x"-8x"+16]
Ans3=[p(x)q(x)=x"+2x"' =21 +23x* =20 x + 15]
Ansd=[a+b=5ab=-24], , AnsS5=[a=-7,b=4,ab=-28]
Ans6=[P(x)=x"—2x=5x"+13x-5]

—]_[Q(x)=3x3+2x} 2_[ Q(x)=3x }
LR ==x+2 ] TR =2 —x+2

Ans7 = .3:[ Q(x) =x } '4:[Q(x)=x3—x2+3}

R(x)=—2x-7 R(x)=-6
5_[Q(x):4x3—8x} 6_[Q(x):x3+6}
" LR(x)=16x-5 7L R)=15 | ]
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RealOl Answers for No.13086

Ansl =[a=-3,b=3,c=-2]

.1=[p(x)+q(x)=5x2—2x—2] .2=[p(x)—q(x)=—3x2+2x]
Ans2 = 3=[q(x)-p(x)=3x"-2x] 4=[mp(x)-nq(x)=-7x" +6x—2]
S=[p(x)qx)=4x"-2x -5 +2x+1] G6=[[p(x)P=x"-2x"+1]

Ans3 =[p(x) q(x):x6+3x5—4x4+5x3+17x2—14x—8]
Ansd=[a+b=3,ab=-54], , AnsS=[a=6,b=5,ab=30]
Ans6=[P(x)=x"-3x +7x" = 15x—1]

I:[Q(x)=4x3—3x2+2x—l} ZZ{Q(x):4x2—3x+2}
' R(x)=2x+1 T R(x) =" +2x+1
s — .3:[ Q(x)=x } '4:[Q(x):x3—4x+14}
R(x)=-5x+6 R(x)=-45
5:[Q(x)=4x3+12x} 6:[Q(x):x3+7}
L R(x)=36x+5 ' R(x)=12 i
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RealOl Answers for No.13111

Ansl=[a=2,b=-2,c=-4]

.1=[p(X)+q(x):3x2—5x+4] .2=[p(x)—q(x)=—x2+5x+2]
Ans2 = 3=[q(x)-p(x)=x"-5x-2] 4=[mp(x)-ng(x)=—6x"+25x+7]
S=[px)qx)=2x"=5x+7x" = 15x+3] 6=[[p(x)P=x"+6x"+9]
Ans3:[p(x)q(x):x6+3x5+5x4—6x3— 15x* 21 x + 15]
Ansd=[a+b=1,ab=-42], , AnsS=[a=-5,b=7,ab=-35]

Ans6=[P(x)=x"—2x=5x"+12x—-1]

_IZ[Q(X)=4X4—X3+4x2—x+1} 2:{Q(X)=4x2—x+4} |
' R(x)=0 ' R(x)=—x"+x

_ - Q(x)=x} _[Q(x)=x3—x2+3x—7}
An? '3_[R(x)=7x—2 4= R(x)=18
5:[Q(x)=3x3+3x} '6:[Q(X)=x3+6}

L R(x)=3x+4 R(x)=2 ]
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RealOl Answers for No.13116

X

[Page = 0030]

Ansl =[a=-3,b=3,c=2]

v =[p(x)+q(x)=5x2—x+3] 2= [p(x)—q(x)=—3x2+x—7]
Ans2 = 3=[q(x)-p(x)=3x"-x+7] 4=[mp(x)-ng(x)=-7x"+3x-25]
S=[p(x)qx)=4x'—x =3x"+2x-10] 6=[[p(x) =x"—4x"+4]

Ans3=[p(x)q(x)=x’+3x - 2x"'-4x - 7x*+23x-10]
Ansd=[a+b=-10,ab=9], , AnsS=[a=1,b=6,ab=06]
Ans6=[P(x)=x"=3x +x*=2]

_1_[Q(X)=4x3—3x2—3x+3} 2_[ Q(x)=4x-3 I
T R(x)=—x+1 o R(x):—3x3+3x2—x+1
_ | Q)=x } _[Q(x):x3—x2—x+5}
An7= '3_[R(x)=—2x—7 4= R(x)=-17
5_[Q(X)=3x3—9x} 6_[Q(x)=x3+8}
i LR(x)=27x-2 L R(x)=27 ]
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RealOl Answers for No.13122

Ansl =[a=5,b=3,c=-2]

.1=[p(x)+q(x)=4x2—2x—3] .2=[p(x)—q(x)=—2x2+2x+5]
Ans2 = 3=[q(x)-p(x)=2x"-2x-5] 4=[mp(x)-nq(x)=—4x"+6x+17]
S=[p(x)qx)=3x"-2x"—x*-2x-4] G6=[[p(x)P=x"+2x"+1]

Ans3=[p(x)q(x)=x*-13x"-12xX - 4x* + 12 x + 16]
Ansd=[a+b=10,ab=24], , AnsS5=[a=3,b=1,ab=3]
Ans6=[P(x)=x"-3x+7x" - 16x+7]

_]_|:Q(x):3x3+4x2+2x_2} 2_|: Q(x):3x+4 :|
o R(x)=-4 “TlR) =24 —2x -4
_ | Qx)=x } _[Q(x):x3+4x2+9x+25}
Ans7 = '3_[R(x)=4x—2 4= R(x)=78
5_[Q(x)=3x3+9x} 6_[Q(X)=x3+5}
i LR(x)=27x+4 7L R(x)=10 ]
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RealOl Answers for No.13123

Ansl =[a=1,b=4,c=-2]
2=[p(x)—q(x)==3x"—4x—4]
4=[mp(x)-nq(x)=-5x"—8x—13]
6=[[p(x)=x"-10x>+25]

A =[p(x)+q(x)=5x"+4x-6]
3=[q(x)-p(x)=3x"+4x+4]
S=[p(x)qx)=4x*+4x -21x*—20x+5]
Ans3:[p(x)q(x):x6—2x5—5x4—5x3+13x2+19x—15]
Ansd=[a+b=-15,ab=56], , AnsS=[a=2,b=3,ab=06]
Ans6=[P(x)=x"+5x —6x"-25x—6]

Ans2 =

IZ[Q(X)=4x4+4x3—3x2—x+4} 2:{Q(x):4x2+4x—3}
' R(x)=-1 ' R(x)=—x"+4x-1
Ans7 — 3:[ Q(x)=x } 4:[Q(x):x3+2x2—6x+15}
o LR(x)=-6x-2 ' R(x)=-41
5:[Q(x)=3x3+9x} 6:[Q(x)=x3}
L R(x)=27x-5 ' R(x)=3 i
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RealOl Answers for No.13126

Ansl=[a=1,b=-1,c=-4]

d=[p(x)+q(x)=4x"—4x-1] 2=[p(x)-q(x)=—2x"+4x-9]
Ans2 = 3=[q(x)-p(x)=2x"-4x+9] 4=[mp(x)-nq(x)=—4x"+12x-37]
S=[p(x)qx)=3x"—4x 115" +20x - 20] 6=[[p(x)P=x" 102" +25]

Ans3=[p(x)q(x)=x"—6x"+8x -33x" —6x+6]
Ansd=[a+b=9,ab=20], , AnsS=[a=-6,b=5,ab=-30]
Ans6=[P(x)=x'+2x -6x =T x+6]

]:|:Q(X):x3+x2+3x+2} 2:[Q(X)=x2+x+3}
. R(x)=x+1 ' R(x)=2x"+x+1
Ans7 = _3:[ Q(x) =x } '4:[Q(x)=x3+5x2+19x+55}
R(x)=5x-6 R(x)=167
5:[Q(x)=4x3—4)1 6:[Q(X)=x3+7}
L R(x)=4x+5 ’ R(x)=18 |
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RealOl Answers for No.13325

Ansl =[a=-4,b=4,c=2]
.1=[p(x)+q(x)=5x2+5x—l] .2=[p(x)—q(x)=—3x2—5x—9]
3=[q(x)-p(x)=3x"+5x+9] 4=[mp(x)-nq(x)=-13x>=20x-31]
S=[px)q(x)=4x"+5x -16x*=25x-20] 6=[[p(x)P=x"-10x>+25]
Ans3=[p(x)q(x)=x" —x"— 12X + 14x* — 8 x + 24]
Ansd=[a+b=15,ab=54], , AnsS5=[a=-1,b=6,ab=-6]
Ans6=[P(x)=x"—6x" +4x"-22x+1]

[Q(x)=5x2—2x+2} |
R(x)=3x"+4x+2

Ans2 =

]_[Q(x)=5x4—2x3+2x2+3x+4}
o R(x)=2

X

Ans7 = '3:|: Q(x)=x } '4:[Q(x)=x3+7x2+11x+19}
R(x)=-5x+6 R(x) =40
5_[Q(x)=3x3+3x} 6_[Q(X)=x3+3}

i L R(x)=3x+5 L R(x)=-8 ]
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RealOl Answers for No.13421

Ansl =[a=0,b=0,c=4]
I=[p(x)+q(x)=4x"—3x—4] 2=[p(x)—q(x)=—=2x"+3x—-6]
Ans2 = 3=[q(x)-p(x)=2x"-3x+6] 4=[mp(x)-nq(x)=—x"+6x—27]
S=[p(x)q(x)=3x"-3x-14x*+15x-5] 6=[[p(x)=x"-10x>+25]
Ans3=[p(x)q(x)=x-2x" =10+ 17x* + 14 x - 20]
Ansd=[a+b=-10,ab=9], , AnsS=[a=-5,b=1,ab=-5]
Ans6=[P(x)=x4—x3+5x2—2x+7]

_1_[Q(x)=2x3+3x2—2x+3} 2_[ Q(x)=2x+3 }
T R(x)=-3x-3 o R(x):—2x3+3x2—3x—3
~ | Q) =x _Q(x):x3+2x2+3}

Ans7= '3_[R(x)=—5x+4:| '4_[ R(x)=-7
5_[Q(x)=2x3+4x} 6_[Q(x):x3+2}
. L R(x)=8x+5 7L R(x)=-9 ]
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RealOl Answers for No.13646
Ansl =[a=-2,b=1,c=-4]

2= [p(x)—q(x)=—x2—2x+6]
4=[mp(x)-nq(x)=-7x"— 10 x+24]
6=[[p(x)=x"+6x"+9]

d=[p(x)+q(x)=3x"+2x]

Ans2 = 3=[q(x) = p(x) =x"+2x - 6]
S=[p(x)q(x)=2x"+2x +3x+6x-9]
Ans3=[p(x)q(x)=x*-3x =x'+15x° =23 ¥+ 9x — 12]

Ansd =[a+b=13,ab=42], , AnsS=[a=-5,b=2,ab=-10]

Ans6=[P(x)=x"+7x —6x* =37 x+2]

_]_[Q(x)=4x4—4x3+3} 2_[Q(x)=4x2—4x} |
o R(x)=0 "l R(x)=3x

_ | Qx)=x _Q(x):x3+7x2+17x+52}
Ams7=| _[R(X) =—2x- 2} '4_[ R(x) =157
5_[Q(x):4x3—12x} 6_[Q(x):x3+6}

L 7 L R(x)=36x-3 L R(x)=13 i
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RealOl Answers for No.13862

Ansl =[a=3,b=1,c=-4]

.1=[p(x)+q(x)=3x2+2x—2] .2=[p(x)—q(x)=—x2—2x+4]
Ans2 = .3:[q(x)—p(x):x2+2x—4] .4=[mp(x)—nq(x)=—2x2—6x+ 13]
S=[p(x)gx)=2x"+2x - +2x-3] G6=[[p(x)P=x"+2x"+1]

Ans3=[p(x)q(x)=x"—-2x"+6x - 12x" +21 x — 18]
Ansd=[a+b=T7,ab=10], , AnsS=[a=-6,b=4,ab=-24]
Ans6=[P(x)=x"+4x +6x*+27x—5]

]:[Q(x)=5x3—2x2—4x+4} 2:{Q(x):5x2—2x—4}
‘ R(x)=1 ’ R(x)=4x>+1
AnsT = .3:[ Q(x)=x } .4:[Q(x):x3—2x2+6x—18}
R(x)=7x+5 R(x)=53
5:[Q(x)=3x3—6x} 6:[Q(x)=x3+8}
i R(x)=12x-4 ' R(x) =26 ]
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RealOl Answers for No.13943

Ansl =[a=0,b=0,c=0]

.1=[p(x)+q(x)=4x2—5x—l] .2=[p(x)—q(x)=—2x2+5x+3]
Ans2 = 3=[q(x)-p(x)=2x"—5x-3] 4=[mp(x)—nq(x)=-13x"+25x+12]
S=[p(x)qx)=3x"-5x+x"=5x-2] G6=[[p(x)P=x"+2x"+1]

Ans3=[p(x) q(x)=x*-8x +18x" =36 X +2x* —4x+12]
Ansd=[a+b=-2,ab=-15], , AnsS=[a=6,b=5,ab=30]
Ans6=[P(x)=x4+x3+2x2+7x—6]

I:|:Q(X):3x4_2x2_x+2:| 2:[ Q(x):3x2_2 :|
. R(x)=4 ' R(x)=—x"+2x+4
Ans7 = _3:[ Q(x) =x } '4:[Q(X)=x3+6x2+15x+49}
R(x)=7x-5 R(x) =144
5:[Q(x)=3x3—3)1 6:[Q(x)=x3+2}
L R(x)=3x+2 ' R(x)=-4 ]

X [Page = 0038] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKKXKXXKXXXXKKKKKKK KKK XXX KKK KKK KKK K KK LK KKK KKK KKK KKKKK



D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ W EI N T N O NN IS EI 0 N0 10 JC 1) 0 ¢
RealOl Answers for No.13968

X

[Page = 0039]

Ansl =[a=-4,b=0,c=-4]
.]=[p(x)+q(x)=3x2+x+8] .2=[p(x)—q(x)=—x2—x+2]

Ans2 = 3=[q(x)-p(x)=x"+x-2] 4=[mp(x)—nq(x)=x"—2x+19]
S=[p(x)qx)=2x"+x+13x"+5x+15]  .6=[[p(x)]F=x"+10x"+25]
Ans3=[p(x)q(x)=x"-2x - 12x*+ 12X + 42 x* - 12 x - 36]
Ansd=[a+b=-2,ab=-3], , AnsS5=[a=6,b=5,ab=30]

Ans6=[P(x)=x4—x3+4x2—2x—1]

__IZ[Q(x)=x4+4x2+x+4} '2:[ Q)= } ]
R(x)=-3 R(x)=4x +x"+4x-3

s = .3:[ Q(x) =x } '4:[Q(x):x3+7x2+12x+21}

R(x)=-4x-4 R(x)=43
5_[Q(x):3x3+9x} 6_[Q(x):x3+2}
L 7 LR(x)=27x+5 L R(x)=0 ]
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RealOl Answers for No.13981

Ansl =[a=-4,b=4,c=1]

I=[p(x)+q(x)=4x"+2x-6] 2=[p(x)—q(x)=—2x"—2x+2]
Ans2 = 3=[q(x)—p(x)=2x"+2x-2] 4=[mp(x)-nq(x)=—12x"— 10 x + 14]
S=[p(x)q(x)=3x"+2x ~10x" —4x+8] 6=[[p(x)] =x"—4x"+4]

Ans3=[p(x)q(x)=x"+x" —6x =22 x* = 16 x — 24]
Ansd=[a+b=10,ab=9], , AnsS=[a=T7,b=4,ab=28]
Ans6=[P(x)=x"+2x=3x*=3x+5]

1:[Q(x)=2x4+3x3+4x2—4x+3} 2:[Q(x)=2x2+3x+4}
' R(x)=0 ' R(x)=-4x"+3x
Ans7 — .3:[ Q(x)=x } .4:[Q(x)=x3+x2—5x+l7}
R(x)=7x+3 R(x)=-47
5:[Q(x)=3x3—3x} 6:[Q(x)=x3+5}
i R(x)=3x-2 ' R(x)=38 i
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Ansl =[a=0,b=3,c=-3]
.1=[p(x)+q(x)=4x2+5x—1] .2=[p(x)—q(x)=—2x2—5x+3]

X

Ans2 = 3=[q(x)-p(x)=2x"+5x-3] 4=[mp(x)-nq(x)==5x"—15x+10]
S=[p(x)qx)=3x"+5+x"+5x-2] G6=[[p(x)P=x"+2x"+1]
Ans3:[p(x)q(x):x6+5x5+8x4+4x3—3x2—9x—6]
Ansd=[a+b=1,ab=-20], , AnsS5=[a=-3,b=4,ab=-12]
Ans6=[P(x)=x'+2x -5x—6x—-7]

_]:[Q(x)=3x4+4x3—2x2+2x—4} :[ Q(x)=3x+4 }
' R(x)=4 R(x)=—2x +2x —4x+4
X)=x X)=x +2x" = 10x+32
Ans7 = 'SZ[R(S)(=)4x+2} '4:[()( ) R(x) = -95 }
5:[Q(x):3x3—9x} 6:[Q(x)=x3+l}
L R(x)=27x-4 R(x)=-4 J
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Ansl =[a=0,b=2,c=-4]

d=[p(x)+q(x)=5x"+x-2] 2=[p(x)-q(x)=-3x"—x+8]
Ans2 = 3=[q(x)—p(x)=3x"+x-8] 4=[mp(x)-nq(x)=-16x>-5x+37]
S=[px)qx)=4x"+x+7x +3x-15] 6=[[p(x)=x"+6x"+9]

Ans3=[p(x) q(x)=x’+3xX —6x" +4x +8x* =36 x +24]
Ansd=[a+b=-2,ab=-35], , AnsS=[a=T7,b=4,ab=28]
Ans6=[P(x)=x"+2x -7x" = 11x—1]

_1_[Q(x)=4x4+2x3—2x2+3} 2_[ Q(x)=4x+2 }
T R(x)=-4 o R(x):—2x3+3x—4
_ _ Q(x)=x } _[Q(x)=x3+x2—5x+l7}
Ans7 = '3_[R(x)=3x—4 7= R(x)=-47
5_[Q(x)=3x3—691 6_{Q(X)=x3+7}
L LR(x)=12x-2 7L R(x)=16 |
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RealOl Answers for No.14022

Ansl =[a=2,b=2,c=-1]

.1=[p(x)+q(x)=5x2+5x+6] -2=[p(X)—q(x)=—3x2—5x]
Ans2 = 3=[q(x)-p(x)=3x"+5x] 4=[mp(x)-ng(x)=-10x" - 15x - 3]
S=[p(x)q(x)=4x"+5x+15x>+15x+9] 6=[[p(x)=x"+6x"+9]

Ans3=[p(x)q(x)=x+6xX —4x" +3x +13x° - 42x+20]
Ans4d=[a+b=-10,ab=16], , AnsS=[a=-7,b=6,ab=-42]
Ans6=[P(x)=x'+3x -2x"—x+7]

_I:[Q(x):5x4—2x2—2x} 2:{Q(x)=5x2—2} |
' R(x)=-2 TR =242
_ | Qx)=x } _[Q(x)sz—x2+5x—8}
Aans7 '3_[R(x)=—4x+3 4= R(x)=15
5_[Q(x)=2x3—6x} 6_[Q(x)=x3+4}
. 7 LR(x)=18x+5 L R(x)=-3 |
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